
RECTANGULAR TABLE

HANDLEIDING - MODE D’EMPLOI  
MANUAL - ANLEITUNG





NL  .............................................................................................................................................................. 4 - 8

Onderdelen ............................................................................................................................................................................................... 4 
Montage ............................................................................................................................................................................................... 5 - 7 
Plaatsing .................................................................................................................................................................................................... 8 

FR  ............................................................................................................................................................10 - 14

Liste des pièces ......................................................................................................................................................................................10 
Montage ............................................................................................................................................................................................. 11 - 13  
Implantation ...........................................................................................................................................................................................14

EN  ........................................................................................................................................................... 16 - 20

Parts ............................................................................................................................................................................................................ 16 
Assembly...........................................................................................................................................................................................16 - 19 
Placement ...............................................................................................................................................................................................20 

DE  ...........................................................................................................................................................22 - 26

Teile ............................................................................................................................................................................................................ 22 
Montage .......................................................................................................................................................................................... 23 - 25 
Aufstellung... .......................................................................................................................................................................................... 26



ONDERDELEN

4 RECHTHOEKIGE TAFEL - HANDLEIDINGNL

BENODIGD GEREEDSCHAP

• 2 sleutels nr. 13 

SAMENSTELLING VAN DE KIT

1 tafelblad 79 X200 cm; 4 tafelpoten; 2 dwarsverbindingen voor de tafel;  
2 dwarsbalken tussen palen; 2 bankzittingen en schroeven

Er zijn gaten voorgeboord overal waar er schroeven komen.



5 RECHTHOEKIGE TAFEL - HANDLEIDING NL

Stap 1: Monteer de bankpoten (1) op de dwarsverbindingen (2) met draadstangen, sluitringen 
en M8-moeren.

Stap 2: Bevestig de bankzittingen (3). 

Stap  3: Bevestig het tafelblad (4) op de tafelpoten met draadstangen, sluitringen en M8-
moeren. 

Stap 4: Voor de DURBANSET met savannalodge 2,30 x 3,50 m bevestig je de palen nadat ze 
op de gewenste hoogte afgezaagd zijn en schroef je ze op de dwarsbalken (2). Als je voor 
vloerbevestiging met platen gekozen hebt, schroef je de platen op de vloer en schroef je de 
palen op de platen. Schroef ten slotte de palen op de dwarsbalken zodat ze beter tegen wind 
bestand zijn.

MONTAGE



PIÈCES

6 TABLE RECTANGULAIRE - MODE D’EMPLOIFR

BENODIGDE GEREEDSCHAPPEN

• 2 sleutels nr. 13 

COMPOSITION DU KIT

1 Plateau de table 79 X200 cm ; 4 Pieds de table ; 2 Traverses de table ;  
2 traverses entre poteaux ; 2 Assises de banc et visserie

Il y a des trous pré-percés partout où des vis sont nécessaires.



7 TABLE RECTANGULAIRE - MODE D’EMPLOI FR

Etappe 1: Assemblez les pieds de banc (1) aux traverses (2) à l’aide des tiges f iletées, des 
rondelles et des écrous M8.

Etappe 2: Fixez les assises de bancs (3) 

Etappe 3: Fixez le plateau de table (4) aux pieds de table à l’aide des tiges f iletées, rondelles 
et écrous M8. 

Etappe 4: Pour l’ensemble DURBAN avec savannalodge 2,30 x 3,50 m, Insérez les poteaux 
après les avoir sciés à la hauteur désirée et vissez les sur les traverses (2). Si vous avez opté 
pour une f ixation au sol par des platines, vissez les platines au sol et vissez les poteaux aux 
platines. Vissez enf in les poteaux aux traverses pour renforcer la tenue au vent.

MONTAGE



PARTS

8 RECTANGULAR TABLE - MANUALEN

TOOLS NEEDED

• 2 x no. 13 wrenches 

COMPOSITION OF THE KIT

1 table top 79X200 cm; 4 table legs; 2 table beams;  
2 beams between posts; 2 bench seats and f ixtures

There are pre-drilled holes everywhere bolts are needed.



9 RECTANGULAR TABLE - MANUAL EN

Step 1: Fit the bench legs (1) onto the beams (2) using the threaded rods, and M8 washers and 
nuts.

Step 2: Fasten the seats to be benches (3) 

Step 3: Fasten the table top (4) to the table legs using the threaded rods, washers and M8 
nuts. 

Step 4: For the DURBAN kit with 2.30 x 3.50 m Savanna Lodge, insert the beams after sawing 
to the desired height and screw them onto the beams (2). If you have selected fastening to 
the ground by plates, screw the plates to the ground and screw the posts to the plates. Finally, 
screw the posts to the beams to make it more wind-resistant.

ASSEMBLY



TEILE

10 RECHTECKIGER TISCH – ANLEITUNGDE

BENODIGDE GEREEDSCHAPPEN

• 2 sleutels nr. 13 

DAS SET ENTHÄLT:

1 Tischplatte 79 × 200 cm; 4 Tischbeine; 2 Tischtraversen; 2 Pfostentraversen; 2 Sitzplatten 
und benötigtes Schraubenset

Alle erforderlichen Löcher für Schrauben sind bereits vorgebohrt.



11 RECHTECKIGER TISCH – ANLEITUNG DE

Schritt  1: Montieren Sie die Bankbeine (1) mit den Gewindestiften  M8, Muttern  M8 und 
Unterlegscheiben an den Traversen (2).

Schritt 2: Fixieren Sie die Sitzplatten (3). 

Schritt  3: Fixieren Sie die Tischplatte (4) mit den Gewindestiften  M8, Muttern  M8 und 
Unterlegscheiben an den Tischbeinen. 

Schritt  4: Für das Set DURBAN mit Savanna  Lodge 2,30  ×  3,50  m führen Sie die auf die 
gewünschte Höhe zurechtgesägten Pfosten ein und schrauben Sie sie an den Traversen (2) an. 
Haben Sie sich für eine Fixierung am Boden mit Unterlegplatten entschieden, schrauben Sie 
die Unterlegplatten am Boden und dann die Pfosten an den Unterlegplatten fest. Schrauben 
Sie dann die Pfosten an den Traversen fest, um den Windwiderstand zu erhöhen.

MONTAGE



WWW.PARTYSPACE.EU

Partyspace bv - Potteriestraat 67 - 8980 Beselare - BELGIUM - Phone +32 (0)57 36 03 30 - BTW BE 0830 189 643


